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OEEOIE 21,600
O3t3l AEZ L Jlss AE3 oip
32,0002 *52 1152 18,400
Olel gZst oip 32,0008 12 %100 3,200
©2HAlH 1,5002! 9002 1,350
OHERLZ(UHEEE) 3,650
201 Ler2%y| 41,000 51,000 10,000
01 A= 22lH| 2,000 4,000 2,000
OANREE 1,000
Ostgl AEZE L D MBS 017 500
ouel H=E3s o 500
OPEA U ZH| AKX 1,000




SN sl
HE: A0S ABS JENL(SHHSLN/52 - 5&)

Sl BH3 o SADS HPHE Rk
M-8 SRI(310) - MRAY - BeS sl e HlRE2
Ostsll dIEE & FSet ¢ 500
Oltel B33t & 500
02 22944 39,000 47,000 28,000
oHeE RF 24,000
Ost3ll 423 & JIsd &435 AR 12,000
OLltel Esst A 12,000
OAI&&EHl |XiHl 15,000
Ostgl s8¢ FS3t o3 7,000
Ottel &3t o 8,000
202 O4Hl 8,800 9,728 N 928
01 =LAl 8,800 9,728 A928
O3tsl &I3E € 7V oZsh o272 4,800
oLltcl F33 A2 4,000
207 SO 64,000 95,000 A 31,000
03 Algled=2H| 64,000 95,000 A 31,000
OB, HZ, 5%, =Xt 30,000
Ostsl 58 ¢ tSst o7 15,000
Ottel &3t o 15,000
OAlS 2 =X+ 34,000
Ostgl ¢Es & oS3t A2 15,000
Otltel 33t o 19,000
Liel ZHBHY T st 37 2 45 X2 4,800 12,000 A7,200
403 XXISHMS K201 4,800 12,000 A7,200
01 XXISHX=2E X 4,800 12,000 AT,200
Oultel =X+ 3 AEXA 4,800
=0 28 A4 128,300 126,355 1,945
101 el H] 50,000 52,416 A2,416
10 JIZtH22AsSE=* 50,000 52,416 A2,416
OANEE=x 7,700
Ot==TtHe A3 2
35,0003 »1H %120 4,200
Ots 22 B 2
35,0003 12 %100& 3,500
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SN sl
HE: A0S ABS JENL(SHHSLN/52 - 5&)

Sl SHEl W SADS SR (S5 @)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
207 PoHLl 34,500 50,455 ~15,955
03 AlE 2l 34,500 50,455 A15,955
OBXHHIE, 5%, 5K S 15,000
OD4THHNE o7 L D222 (305) 9,000
O+ 2 MBS 84 97(03) 6,000
OAS & =X 9,500
OD4THHHE &7 L D22 (195) 9,500
O+ 2 MBS |4 A7(03) 10,000
405 XarF S 25,000 0 25,000
01 RMASEHSH] 25,000 0 25,000
OEE (10H) 25,000
i E 4 (2 D-20f) 382,000 0 382,000
2 191,000
= 191,000
401 AlEHILL 0] 330,000 0 330,000
2 165,000
= 165,000
01 Al&H] 326,500 0 326,500
OT2 S HEHIFD SXTA(IIHL) 198,000
2 99,000
= 99,000
O B8 YXY HXBAH2ha) 70,000
2 35,000
= 35,000
Ot A& HXIBAHO.3a) 58,500
2 29,250
= 29,250
03 Al&=CH] 3,500 0 3,500
072 M8 NSHID SXTM 2,000
2 1,000
= 1,000
OB4LHE WY L AL X 1,500
2 750
= 750




SN sl
HE: A0S ABS JENL(SHHSLN/52 - 5&)

CHol: B3 U ST S PIpe (eH9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
405 KHaHE S| 52,000 0 52,000
s 26,000
& 26,000
01 M ESHSHI 52,000 0 52,000
ouzel #=2 dg€21(1h) 20,000
s 10,000
< 10,000
olutel o1E 22/01(1h) 20,000
s 10,000
= 10,000
oltel orH mWEI|(1th) 12,000
= 6,000
& 6,000
sBsiag MAD|s Y (sElZsd /=Y - &) 457,880 604,133 A 146,253
s 100,000
& 357,880
EAEH Y XNFSE 23t 330,420 472,613 A 142,193
s 100,000
& 230,420
Egae, EE AR 58,030 70,993 212,963
101 @IAH| 12,040 15,000 A 2,960
10 JIZtHNZ2Z2NsSEs 12,040 15,000 A2,960
OANEE= 35,0003 »2ZH «60 4,200
OELFZR 32,0003 x3H x50 4,800
O©2tAH| 1,500 *3H x50 225
OgAERLIUUEER) 2,815
201 Lt 16,154 17,294 A1,140
01 At 2teld] 5,754 8,394 A2,640
OXNAEEHY = 2,000
Oaga = & 900
OEZH &l 454
OAEEZE2e SIYXt 600
OZAtRtZ 2t 1,800
02 =294l 10,400 8,900 1,500




SN s
HI: SASAS MAIS L (SEHLSL/5Y - 5&)
Celr EYEN U XHESX 23 (982
_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
OFLUIIXNM SRXNB% 8,000
OELATASEA QX ES 1,800
ORIZANSR 2BER2 600
202 OiH] 6,756 10,406 A3,650
01 =2LHodbl 6,756 10,406 23,650
OELTZAIEAT 2= O H 6,756
207 S FIOHEH| 22,000 28,293 A6,293
03 AIE™ Y 22,000 28,293 26,293
O HZ, 5%, sXMH S(108) 12,000
OAS Y ZXII2(105) 10,000
301 LLBA2 1,080 0 1,080
10 SALAH 243 1,080 0 1,080
O PEH B & AMOILE ZAF 041 1,080
28 D422 =88 &2 A7 22,870 17,020 5,850
101 Q144 10,870 7,020 3,850
10 JIZH22IsEES 10,870 7,020 3,850
OANEEZX 35,0002 x 12 x100 3,500
OXZQIE 32,0002 x2H 110 7,040
OZtAlH] 1,500 «2H 110 330
207 S RIHEH| 12,000 10,000 2,000
03 A& RHI 12,000 10,000 2,000
OB HIZ, s, 5K S(88) 4,800
OAl2 2 Z=XII2(10E) 7,200
SHHME} =St AR 49,520 54,600 A5,080
101 Q144 10,030 11,600 A1,570
10 JIZH22IEES 10,030 11,600 A1,570
OSH00e 40,0002 * 1 %100 4,000
OZHOL 32,0002 x2% 90 5,760
OZtAalH] 1,500 «2H x90 270
201 LEr2YH| 23,490 24,600 A1,110
02 ZZ2=29H 23,490 24,600 AT1,110
OSHME} HIRAE RXE% 1,800
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_ _ PSS
SN-EHH S (3H) - HEAY - BES Ofl &+ o4 0] Ak o Hlusz
OB ZMEH? LXMW SELA 1,200
OB FME K22 HYR 11,250
ORI £ 28501 2% 240
OB ZME SHPAE I3 9,000
202 014l 3,000 3,000 0
01 =LH0itl 3,000 3,000 0
OB ZMEHA T AFLEX OdH 3,000
207 AR 13,000 15,400 A2,400
INEEEE] 13,000 15,400 A2,400
OZX HZ2, 5% 5K S(108) 4,500
OAS & EXI|I7(85) 8,500
XAt BE LAY (B D-B B =) 200,000 0 200,000
El 100,000
= 100,000
405 RtakE S| 200,000 0 200,000
E 100,000
[ 100,000
I EEEEET 200,000 0 200,000
OXEB=Y 2AL =) LAl 200,000
OEAXSE4D 55,000
7 27,500
= 27,500
OotolaZ01E 40,000
z 20,000
& 20,000
ozl 30,000
z 15,000
S 15,000
ogtes=x 3,000
z 1,500
== 1,500
OEA=I 6,000
z 3,000
== 3,000




SN 5eIIEd
BE: ASASHS MMl HL(SHHLS/5Y - 5E)
Sol: EYSA U XNAZA A5 (Er9): &2
_ _ SIEN
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
OZ2HLIOIA 20,000
s 10,000
= 10,000
O2HAHSFEEDI 6,000
[ 3,000
= 3,000
OANSE2E 10,000
s 5,000
= 5,000
OE2dHEA D] 10,000
N 5,000
= 5,000
O&EF=HM=Z7 20,000
Py 10,000
S 10,000
ABY HHSNES M4 o7 127,460 31,520 4,060
OtM satE Matsd 3 28,890 16,900 11,990
101 QI214] 11,890 2,900 8,990
10 JIZAHN22ASE* 11,890 2,900 8,990
ONBHZE 35,0002 22 x802 5,600
OZHQR 32,0003 »2H 55 3,520
©2HAlH| 1,500 +22 x5 165
OgARLIUUEER) 2,605
207 SAOHEH| 17,000 14,000 3,000
03 AlIE& 2| 17,000 14,000 3,000
OZX HIE, 5, S S(105) 6,000
OAl L =XDII7(22 11,000
=2 gois ZHlls 27 72,870 83,900 A 11,030
101 Q12| 10,870 12,100 A 1,230
10 JIZAH22ASES 10,870 12,100 A~ 1,230
OANEE=X 35,0003 x 12 »100 3,500
OEFQIR 32,0003 x2Z x110& 7,040
©2+AH] 1,500 «2F 110 330
201 LEHRHH| 34,500 37,300 A 2,800




AN =glIsd
H: SASAS M)l g (sEdidd/ =Y - 5&)
09 @B HESLS MY o CLE-E
M- "2 . Che Ak oH a‘j-llgg_l':‘g HusZ
02 =229l 34,500 37,300 A2,800
oMsE At A 2,000
ogeles o 4,000
ogcles o 22,740
OATZAA 2 5,760
202 Oidl 4,500 4,500 0
01 =Wobl 4,500 4,500 0
ogelzsd? 4,500
207 AR 23,000 30,000 AT7,000
03 AlE& 3l 23,000 30,000 AT7,000
OB HIE, 5%, =X S(1565) 18,000
OAS & =D 5,000
ded sHJl= ) 25,700 30,720 A5,020
101 eIl 10,700 12,720 A2,020
10 JIZtHZ22 X% 10,700 12,720 22,020
OE=0I= 40,0003 *x1E+100 4,000
(©OFpSels 32,0003 2 100 6,400
(©Fdgaysl 1,500 x2H 100 300
207 Ao 15,000 18,000 A 3,000
03 AlE& 32l 15,000 18,000 A 3,000
OB HIE, 5%, =X S(58) 5,000
OAI & =XIIF(105) 10,000
DAGEY ISR (SYHYSM/5Y - 5E) 4,877,238 3,756,911 1,120,327
= 2,686, 102
s 1,700,000
= 18,108
& 473,028
sEXNEIIE &= 4,127,258 2,984,616 1,142,642
= 2,259,950
ay 1,700,000
& 167,308
sl Aoz 435 156,808 166, 366 A9,558
201 B2 24,000 24,156 AN 156




2A: sg0|=3
BB DMOIEE J|E KR sof . 5&
el SEXTIIP S (S5 @ 2)
SA-EH O (3) - HBAY - B A Ao gggf; HRS2
01 AtR22id] 24,000 24,156 N 156
Os=N&E o 8,000
OsE=XNEZAIE X BOM HE S 16,000
202 O4Hl 13,008 14,290 AN 1,282
01 Z2UWdH| 3,008 7,290 N4, 282
OsEXNEAY R= 3,008
04 =M 10,000 7,000 3,000
Ot =sgE= 10,000
301 e A3 8,800 7,920 880
10 SHALAHIE A 8,800 7,920 880
OFEINE== S at 8,800
303 IZAZ 11,000 20,000 A9,000
01 ZAa2 11,000 20,000 A9,000
OsZEXN ALY Al & 10,000
OL&=DXNE 1,000
403  KHXIEHHIS A+ 100,000 100,000 0
01 XXSHA=2EX 100,000 100,000 0
ORI Jl=Eg &3 N 100,000
sEXNED|g ZH&(21D) 1,700,000 1,601,000 99,000
g 1,700,000
403 XNXSHHSAH20|H 1,700,000 1,601,000 99,000
g 1,700,000
01 XAXESHMAESEE 1,700,000 1,601,000 99,000
OXEZJ|etxd XI& 1,700,000
Fay 1,700,000
SEXNEANY EHo(2D) 43,500 30,000 13,500
= 33,000
= 10,500
101 Q14| 15,000 13,000 2,000
= 7,500
= 7,500
10 JIZHZ22XNsSES 15,000 13,000 2,000
O=&8Rr=2, sS4 Al 282X 15,000




A sII=

By DMOIES SN (SYNSSA /5 - 5E)

O

ST

CHol: SEXCI|E BB (eH9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

= 7,500
o= 7,500

202 O4Hl 6,000 5,500 500
= 3,000
= 3,000

01 =2ZWoib] 6,000 5,500 500
Os=dEAY &35 =4 6,000
= 3,000
= 3,000

308 AXIEHSOIE 22,500 11,500 11,000
2 22,500

01 AXSHHIABXTZ 22,500 11,500 11,000
oLuNEes XN 22,500
= 22,500

sI|IHEE S X (=21D) 214,950 262,250 AN47,300
= 214,950

403 XXM SKH201H 214,950 262,250 N47,300
= 214,950

01 XXESHA2EX 214,950 262,250 A47,300
OsJ|H 223 &d| A& 214,950
= 214,950

st s S&I|sXR_(=2D) 145,000 55,000 90,000
= 145,000

308 AHXIEHMSO0IA 45,000 55,000 A 10,000
= 45,000

01 XXNHHBIAEXZ 45,000 55,000 A 10,000
Otz &8s K2 (9MA) 45,000
= 45,000

403 XXISHHSA20|H 100,000 0 100,000
= 100,000

01 XAXESXMASEX 100,000 0 100,000
oXdHREs X2 (1) 100,000
= 100,000

NEsHEHLII=XR(=2D) 1,867,000 870,000 997,000
= 1,867,000
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AN =glIsd
HE: DMHOEH j|§x|$(ia|5|.|ok_/'\_/\+/_._g ._'.—_zTc_)
| —

:

ool =9 ®2)E s (el o
SN EY O (BH) - MRAY - BLS 01l &k o SSa HRE2
CEEE 7,308 21,650 4,382
OBEST =RO0ISIEIOIDS 2 A DA 14,530
ODIH=2l GE0 LIEFA 7= DS 2,778
2 222 220 0 220
OsZHMRH %4 DREN 2= 220
202 i 5,000 4,140 860
RETEE 5.000 2,140 860
O BEST =03HH0| DX 3,000
O0IH=Y CEO WIEHD 2= =& 2,000
01 YerEa 7,200 44,100 36,900
0 ZALDEAS 7,200 21,600 14,400
OBEST SRI0HH0l DS HAT 24 4,500
OIS CO WIEHD DS FAT 4 2,700
=o0l @2IE DR(2D) 321,312 257,150 64. 162
2 305,812
< 15,500
201 s 10,540 2,000 8,540
2 5,270
< 5,270
CEEL 10,540 2,000 8.540
C4HElY 2 NEX BHDS 10,540
2 5,270
< 5,270
202 ol 2,700 0 2,700
2 1,350
< 1,350
01 =0t 2.700 0 2.700
O4HEE L XK BHDS =& 2,700
2 1,350
< 1,350
206 T2 7,200 1,000 6,200
2 3,600
< 3,600




2N sYIIER
o DAGSY SN (SEHL AN/ 5Y - &)
©9l =2 M2)E U (9l &8
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 Mz 7,200 1,000 6,200
O4-HElR L NSX HHDS WE 7,200
2 3,600
= 3,600
01 Yereaz 10,560 9,000 1,560
2 5,280
= 5,280
10 BAAHIZA2 10,560 9,000 1,560
O4-H3I® o NEX HHDE FAX 24 7,560
2 3.780
= 3.780
OESB=YNTIDY DSIAT S 3,000
2 1,500
< 1,500
308 XXIEHHSOIH 290,312 245, 150 45, 162
2 290,312
01 RNASHINEES 290,312 245, 150 45, 162
Osgol MeIEn X 290,312
2 290,312
I #F0IB8IIE DR(2D) 23,400 19,000 4,400
2 23,400
308 XXIEHSOIN 23,400 19,000 4,400
2 23,400
01 RACSHZAEES 23,400 19,000 4,400
O3 SN0 JENST X 23,400
2 23,400
NEBRR 2S5 a 17,462 10,537 6.925
201 st 16,462 10,537 5,925
01 At 16,462 10,537 5,925
OYSHH HSHLUHE YHDS 14,140
Osgel M2NSES A ARDS 2,322
01 Ypreaz 1,000 0 1,000
10 #AAHI2A2 1,000 0 1,000
OYSHHMSANHE FHDS 1,000
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L —
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oo =9 M2J% s RS
] _ _ PIEL=
SA - EB . ER(EN) - MEAY - BAS 0 &b s HDE2
NEZog M2se sA(2D) 103,240 92,910 10,330
2 96,940
= 6.300
202 OfH| 12,600 9.200 3.400
= 6.300
< 6.300
EENTT 8,000 7200 800
ONE2o8 SausA =X 8.000
2 4,000
< 4,000
04 2ROl 4,600 2.000 2,600
OXNEZoa SABA ool 4,600
2 2.300
< 2.300
308 TXISHHSOIF 90,640 83.710 6,930
= 90,640
S ELEEE 90.640 83.710 5.930
OXNEBLE s X 90,640
2 90,640
soloicH Bl X 234,808 296. 197 A61,389
= 18,108
< 216,700
4H3l SA 27,000 47.880 £20,880
308 TEIEHHISOI A 27,000 47880 20,880
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O4H AEHs TR 27.000
==X ERE 84 40,000 45,400 A5.400
307 BIZH0| A 10,000 0 10,000
CEEEEVEES 10,000 0 10,000
ORl185 LAT ==X TS MW 10,000
308 XSSOl 30,000 45,400 A 15,400
S LR 30,000 25,400 ~15.400

) 30,000
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2A: sg0|=3
BE: HEOE U B SN (SPHLL/5Y - 5E)
ol BANS BREN JE2D (S5l &2)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OX % AAS ANS B2 LA 90,000
AEAZAES MAII=X (KA 60,000 100,000 40,000
403 XXM SA201H 60,000 100,000 A 40,000
01 XXSHHMA=2EX 60,000 100,000 A 40,000
O EH YU=FI|= BEST 02 AME=sH 60,000
AERS ENtg JsE2 851,014 1,079,300 N 228,286
= 175,000
= 521,000
== 155,014
OLN S=EAS MAD|sAYE(21) 175,000 200,000 A 25,000
= 175,000
403 XXM SKE01H 175,000 200,000 N 25,000
= 175,000
01 XXESHA=2EX 175,000 200,000 A 25,000
O=ANS CHEMAN D= A EH (2AHY) 175,000
= 175,000
XN EA 2483HIHA) 521,000 255,000 266,000
= 521,000
403 XXSHHSA20|H 521,000 255,000 266,000
= 521,000
01 XXESXMASEX 521,000 255,000 266,000
OXNEEHSAIL 521,000
= 521,000
S0l M FYH BLISX (RA) 155,014 624,300 469,286
201 Ygr2yl 8,254 10,000 A1,746
01 AtR2t2id| 8,254 10,000 AN 1,746
OMJIl= E2 =M H& 2,400
OFENMEZ I3 HAYXES 1,800
O=AER HOtg W ME 1,000
OJrs&Y YA 2= M 1,500
OSMER B3 HAL YR S 554
OLNSHA Mah WsEWH HE 1,000
202 O4H| 11,760 8,300 3,460




2N sgll=d
BE: HHOE U B SN (SPHLSL/5Y - 5E)
ool ASXS SHE )laE3 CECR-ED
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
01 =2WAbI 11,760 8,300 3,460
OE& 5 322 2HAA 1,760
O=gol LA XA 2,500
O Iz X JI=Xd 2,500
OJME= dolls YH JI=K& 2,500
O3 &2 AMAIY 88X JI=X& 2,500
403 ANXSHHSAE0H 135,000 606,000 A471,000
01 XAXESHA2EEX 135,000 606,000 A471,000
OAMIMNLHURX E22Z=s8 ASAY 46,500
I FHE =8 ASAY 18,000
o022 HATHEHAF AASR L2 AIH 48,000
OH R==2 &I Mg AY 22,500
As8& JlsX)| AEZ35 413,404 380,280 33,124
= 302,679
= 110,725
WStA =8 X)) =X (=2D) 314,308 302, 140 12,168
= 302,679
== 11,629
201 LErEIH| 9,058 11,200 N2,142
= 4,529
== 4,529
01 AtR2t2ld] 9,058 11,200 N2, 142
odols YHAE ¥ =82 9,058
= 4,529
== 4,529
202 O4H| 14,200 7,080 7,120
= 7,100
& 7,100
01 =2ZWodb] 10,000 7,080 2,920
oz324gds LM J=X& 5,200
= 2,600
T 2,600
OEXAHA X J=X& 4,800
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SN 5058
MY SENEINEE(SYHYFL/5Y - 5&
Chel: mEEessa (crel: &2
_ _ SIEN
SAN-ZH-SA(ZH) - NFAIY - H Ofl At ot HwsZ
AJIZESAY(2D) = 172,800
= 19,400
201 Yer2y| 23,000 23,000
= 11,500
11,500
01 A2l 8,000 8,000
OJIH AN MBS B4 LA, AR S 8,000
= 4,000
< 4,000
03 A2 15,000 15,000
OJFH 2 (M E 5 ALK 2 15,000
= 7,500
< 7,500
202 o1t 2,000 2,000
= 1,000
< 1,000
01 =LHOiH 2,000 2,000
OFH AN M3 F=X0jY| 2,000
= 1,000
< 1,000
206 TR 11,800 11,800
= 5,900
= 5,900
01 Mz 11,800 11,800
OIFANMES 2SS 11,800
= 5,900
= 5,900
301 LerEAZ 2,000 2,000
= 1,000
< 1,000
10 BAAHI2AS 2,000 2,000
O AN 243 2,000
= 1,000
< 1,000
308 XX EHASOIH 153,400 123,400




2 sHI=H

M sENINE S (s8lLd=d/s - 5&)

Cel: SEZAGSA (&te &2
i} _ _ FSIER=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hon=s2t

308 XXSHHSOIA = 153,400

01 XXSHHMAAEEZ 153,400 30,000 123,400
OSZ=HEES J=sEB2(4HD) 40,000
2 40,000
OJIE A AMEAIH (1IHA) 19,400
=2 19,400
OT A MBI SHSASIAIYH (200 A) 50,000
2 50,000
OZ AR SEMEX S (ALK ) 25,000
2 25,000
OETSXAAALIMSAIE (1IH2) 19,000
=2 19,000

SEHLESIESRL(2D) 625,000 1,750,000 21,125,000
=2 625,000

308 XXESHHSOIA 625,000 1,750,000 21,125,000
= 625,000

01 XXSHHMIAEXZ 625,000 1,750,000 21,125,000
OsSEAHLE40IS (25 A) 625,000
2 625,000

AHEE2IsE2(2D) 610,000 382,500 227,500
= 610,000

308 XXIESHMSOIA 510,000 360,000 150,000
=2 510,000

01 XXSHHMAAEERZ 510,000 360,000 150,000
OsZHE NAEUHEKAA(BIMA) 250,000
2 250,000
OsSZHE RESsH(3MA) 150,000
=2 150,000
OXNUSASIHEI=EZ=3HBMA) 60,000
2 60,000
OSESATSH(1HA) 50,000
2 50,000

403 KX SRS =0 & 100,000 22,500 77,500
2 100,000




2 sHI=H
M sENINE S (s8lLd=d/s - 5&)

o SEEAGESE (649 & &

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
01 XXSHHIA2EX 100,000 22,500 77,500
O==0d FZEsXE(2HD) 100,000
= 100,000
sHATHHHL (2 2) 190,000 90,000 100,000
= 185,000
= 5,000
201 LEHRHH| 7,000 5,000 2,000
=2 3,500
= 3,500
01 AR 2&cldl 7,000 5,000 2,000
O &Y tH AL 2 HHI 7,000
= 3,500
= 3,500
202 O4Hl 2,000 2,000 0
= 1,000
= 1,000
01 =LHAHI 2,000 2,000 0
O = QIO M AP EHET O b 2,000
= 1,000
< 1,000
301 ptsazg 1,000 3,000 22,000
= 500
& 500
10 AIAHIE& = 1,000 3,000 22,000
OSXYTAILZT A 1,000
= 500
< 500
308 NXIHHSOIH 180,000 80,000 100,000
= 180,000
01 AUXHHBLEEZ 180,000 80,000 100,000
O=sXHM D AIH (3EXRL) 20,000
= 20,000
O=XHNM D AIH (2E L) 120,000
= 120,000




A sII=

M sENINE S (s8lLd=d/s - 5&)

el =EEAGEH (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2

OsSZHAM D AR (AFTF) 40,000
= 40,000

=E=MEHOI0ISXZHE(2D) 600,000 850,000 A 250,000
g 600,000

403 XXM SKH201H 600,000 850,000 A 250,000
g 600,000

01 XXESHA=2EX 600,000 850,000 A 250,000
OsZ=MEHOI0IS A (129HA) 600,000
rag 600,000

SEASHINLAEHO| Y XK (21D) 100,000 75,000 25,000
rag 100,000

308 AHXISHHMSOIHA 100,000 75,000 25,000
g 100,000

01 AXSHHIABELEZ 100,000 75,000 25,000
O=E oI H I A EHOIZY (4N 4) 100,000
g 100,000

SEMNE 253 177,230 306,766 N 129,536

201 B9y 12,000 7,722 4,278

01 AtR222id] 1,000 7,722 NG, 722
Os=3 ASSAIY =X 1,000

03 SHAISHHI 11,000 0 11,000
OHIOI0IS NSE23 LESF 11,000

202 o4l 2,000 4,044 N2,044

01 =2WAbI 2,000 4,044 N2,044
O ASSIAIY =X 2,000

301 Let8EAa3a 13,230 0 13,230

10 AL HIBAZ 13,230 0 13,230
O=s=k& ASSAIY 2432 13,230

403 XXM SA201H 150,000 295,000 A 145,000

01 XXSHHMA=2EX 150,000 295,000 A 145,000
OYLReINENSEH (M) 90,000
OUKNEAE OCESIISH(4MD) 60,000

SEALT0EXE 99,500 27,430 72,070
I




A sII=

M sENINE S (s8lLd=d/s - 5&)

o9 SEHAHEE (e9: @8
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
201 greg| 6,000 7,000 A1,000
03 A2 6,000 0 6,000
OBL0IS S L HE3 6,000
202 OiHl 1,500 2,430 930
EREE 1,500 2,430 980
OSE0tE HRSH =& 1,500
301 YsrBAZ 2,000 3,000 A1,000
10 SAAEI2AS 2,000 3,000 21,000
OBA0IE RS L AT B 2,000
308 XHXISHHISOIH 90,000 15,000 75,000
RN EREES 90,000 15,000 75,000
0020l B3 SE0SSH(12H2) 72,000
OSELBAST2 Y2 (12014) 18,000
SIAY TR MR Y 39,400 57,450 A 18,050
308 KXISHSOIH 39,400 57,450 A 18,050
01 XNXSHBLZES 39,400 57,450 18,050
OsYAABEIA 2Y(143H4) 39,400
MEX AL B3 12,588 36,755 A24,167
201 er2o| 5,000 20,855 A 15,855
01 At 2tel| 5,000 20,855 15,855
OMEXIHAY 2435 5,000
202 04l 7,588 6,900 688
01 =Uhotdl 7,588 6,900 688
OMEXZAY HREE 7,588

SEHLdSHY HETRA 195,930 222,950 A27,020
= 75,000
5,200
S 115,730

sgEEHALL(21) 75,000 100,000 225,000
= 75,000

308 XNXISHHMSOIE 75,000 80,000 5,000
= 75,000

01 NXEHMILEXS 75,000 80,000 /5,000
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2 sHI=H

B SENAINBS(SYHLLM/59 - 5&)
o9 SEOHSHD MBX (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
201 LBtEAH| = 4,000
01 ArR2t2lbl 4,000 4,000 0
OME) =M ¥ sElgnNs 249 4,000
= 4,000
301 et A= 1,200 1,200 0
= 1,200
10 SEAAHIEAZ 1,200 1,200 0
OMEI =AM ¥ sgEiigns 24 1,200
= 1,200
HMSAAH (sHII=H)(IIEHIIE 6,980,061 6,915,439 64,622
= 8,071
& 6,971,990
ol 2HHY| 6,802,716 6,717,286 85,430
=2 8,071
[ 6,794,645
S2& o1AHH XA 6,375,549 6,463,853 A 88,304
101 1A H| 6,036,909 6,118,073 AN81,164
01 JI=3 3,846,272 3,899,811 53,539
o=3z 3,555,488
OdA=H 66,083
-42 5,506,840& x1H x12& 66,083
Ot 125,711
-6=2 2,427 ,400& x3H x 12& 87,387
72 1,862, 7003 *x1H x12& 22,353
-82 1,330,900 x1H x12& 15,971
OHFRA 2,051,662
-2 3,534,300&x10Y x12& 424,116
-2 AL 2,119,2003 x64H x 122 1,627,546
OXNEH 747,320
-Xl &2 3,257,100 x6H x 12& 234,512
-XI & At 2,136, 700& x20H x12& 512,808
OJls2 564,712
72 2,132, 7003 *3H x12& 76,778




AN =glIsd
M HHRIHH(sLII=)(JIEHIIEH
chol: o2l 2ot (et9l: &2
SN HH G (EH) - MBAY - BYS Ak e 2
-85 1,888, 100& 14123 317,201
-9 1,336,200 x5H x 123 80,172
-102 1,078, 100& x7E + 123 90,561
Oa0= 290,784
OF< =t =, 3,489,405,000& *1/12 290,784
02 =% 875,404
OJE=¢ 112,800
Ot =Xt 40,000 x134H =122 64,320
OJIEDE 20,0003 202 =12 48,480
OsHIEx+< 38,668
O=st 51,4003 »25% x4 3| 5,140
OnseH 419,090& 20 x4 3] 33,528
OFZ2+It= 134,040
025 0] & 130,000 x24H » 123 37,440
0O20-25= 0] 8¢ 110,000& *27H 123 35,640
O15-20= 0] 2t 80,0003 x28H x12& 26,880
O10-15= 0] 8¢ 60,0003 39 122 28,080
O5-10& 0| et 50,0002 10E = 12& 6,000
ORE2R=+H 51,600
oss 50,0003 x86%H 122 51,600
olz=d=H 150,698, 0003 x4 . 8%* 12 86,803
ozclgRg 47,610,800 *6H *9% 25,710
O=E=gR+Y 92,400
Ollsge=¢ 21,360
-N &2 60,000 x6ZH 123 4,320
—KIZ A 50,000 x20E «12& 12,000
-Jtet3 30,000& 148122 5,040
OgAgE+g 80,0003 +74H 128 71,040
Oetdzte|gE g 840
Ofg=otd e =g 10,0003 »7H«12& 840
olskt2dr=Y 40,0003 x9H x 123 4,320




SN
X XH .
(=

chel:

{0

A
=
dId(s0l=
(o]
S

2|

)(DIEH/DIEL)

DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
OREEZRATY 50,0003 x2H = 12& 1,200
OE==X22Y 15,960
OZ Xl 50,0003 x16 =122 9,600
OsX 40,0003 x8H x 12 3,840
ogxX 30,000& x7H *12& 2,520
QAlZte =224
7,325 x 135 25 A| 2+ x 12 296,663
odyAaY 70,000 x10H = 12& 8,400
OstzA Y 500,000& x1H = 12& 6,000
03 A=A 137,280 138,840 A 1,560
(©FSELE=paya] 130,000 *88H x12& 137,280
04 WSS 137,640 137,640 0
©1-32 200,000& *3H = 12& 7,200
©4-5= 140,000 *10Y +12& 16,800
o6-7=2 130,000& 59 x12& 92,040
©8-9= 120,000 =15« 12& 21,600
05 "[ESIHYI 348,941 359,334 210,393
OZEFIHI 3,489,405,000 *1/12%120% 348,941
06 JHAHIXI&HI 582,731 600,087 A17,356
O It AKX & 8l 3,489,405,000& 16.7% 582,731
07 HItE2 AHH| 108,641 112,577 A 3,936
CH=H 66,083,000& *1/12%1/30* 11 2,020
©Ok=2=N| 3,489,405,000& 1/12%1/30% 11 106,621
203 LPEXY| 48,840 48,960 A120
01 J|22IHRFE| 22,000 22,000 0
O3 10,000,000 *1H 10,000
O FS, 6,000,000 »2H 12,000
02 HRAIAHFF=ZAHI 3,440 3,560 A120
OFAIZ 40,0003 x86Y 3,440
04 REN2ILRFLAY| 23,400 23,400 0
©15210l 5t 250,000& 510t +12& 15,000
©3092!1 0l 5t 350,000& 210+ 122 8,400




SN sY|Ed
M2 SHSAF (5YIIE9)(OIEHIIE)
Sl Ol 2| (5l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
204 HRLBAY] 289,800 296,820 AT7,020
NIEEEEEESET 51,600 51,600 0
o 650,000 12+ 122 7,800
Gk 600,000% x2 * 122 14,400
OB 350,000 +7 % * 122 29,400
02 XZEEH 191,400 195,420 A4,020
©22 650,000% 12+ 122 7,800
042 400,000 +9 * 122 43,200
053 250,000 +5 % * 122 15,000
062 155, 0002 *54 + 122 100,440
073 140, 0002 %32+ 122 5,040
08-92 105,008 * 143+ 122 17,640
©103 95,0002 224 122 2,280
03 ST S| 46,800 49,800 3,000
CIEIEE=Y] 50,0002 +78% * 122 46,800
XS AY 94,853 31,445 63,408
101 o124y 94,853 31,445 63,408
09 SIHA2EZXZS 9,853 31,445 63,408
CEEESEEE 9,853
023 33, 20021 62 x2552 50,796
0402 33,2001 +6 % x212 #42 16,733
ORzEL+Y 33, 20021 62 ¥522 10,359
osixtna+Y 33, 20021 *6% * 152 2,988
O = FIH| 300, 000! *6% +23] 3,600
=X 50,0002 62 122 3,600
SEE-CI==TPELEY 6,777
0| A TA 158,086 56,680 101,406
101 Q12| 158,086 56,680 101,406
09 SIAHA2EZX=ZS 58,086 56,680 101,406
CEESSEE 58,086
oJza 33,2002 10 %2552 84,660




2AM: sgII=™
HH: HH2HAH(s5LI1=)(JIEH/IIE)
chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES Aro L=t HlmE2
Ol &k
o 33,2003 10 212 43| 27,888
O% 33,2002 10«52 17,264
o¢ 33,2003 *10H 15 4,980
@) 300,000 *10H *23] 6,000
o=z 50,0003 x108 = 1200 & 6,000
OYE 24U 2) 11,294
BZsg AlgHR 158,086 138,308 19,778
101 oA 158,086 138,308 19,778
09 =2IIA 158,086 138,308 19,778
otz 158,086
Ol 33,2003 x10H 2552 84,660
o 33,2003 10 212 43| 27,888
O= 33,2002 10«52 17,264
O¢x 33,2002 *10H =15 4,980
(@):F<! 300,000 «109 2 6,000
OF=; 50,0003 *10H 1200 & 6,000
(@)= 24U 2) 11,294
&2 goiE o 16,142 0 16, 142
= 8,071
= 8,071
101 oA 16,142 0 16, 142
= 8,071
& 8,071
09 20| 16,142 0 16,142
odd 16,142
Ol 33,2003 »1H x2552 8,466
= 4,233
& 4,233
o 33,2003 *1H x21d x4 3] 2,789
= 1,394
& 1,395
o= 33,2003 »1H x52 1,727
= 864




od
’J
oF
oJ

)(DIEH/DIEL)

=&

[ee] Lo Lo — <t () () (ap) [o0) [e 0] () (@) Lo Yo} [ep)
(=] < < [e6) © (@) o) Yo} Y} Ye) <
[e0) (@) (e} © (4p) (e} O © (e} o] ©
- Sla|al= < ol|lo|s NN o
41 <« 41 << g
Ko q
E
=)
AR BN EENE
glg|e|e « © | AR ® | | S
L4 3r =
uiled!
Pak=S
[9p] o Lo Lo o o o o o o o Lo Lo 19 gy N o o — — o o o [aN} Al Al Al (@] (@) o o o o (@]
88 58888 888 8888|583 888 |8RRIEFZ 5|88 8185 5§
5
<
=
W oW oW Mo MW
ol ol ol
Lo [aN] [aN]
< x *
or 0 % 0
X0 x o *
| oF o oF
b S g S
N o <
ol ] =] 3
=<
Ik . .
< =] El
~ - 5 5 & s WJ
= o 0 30 S| o =) = o
ol 0 K0 il 0y | il 3 ur =
— F o 2 o Mo 5 | K o = p -
o7 D ) oo 22z = s Ho i 2lEls = U Dlw 3|3
U Ok <t = o+ By m_ T & B 80 5 & | m_ PRI 5 & |[Slm = | §
N R Rl 7 R0 WiWlm w v o |(_|d8 o |B(®m w58 & Fla 5 |B
& & g M E) ~ ﬂ - T H T [T T | Ma - T |25 T |dl = |
R0 O O O O oMz o oMo D [ S m ook s ||z oo |[Sim o |[Rlx W |a
- 5o | - © © | & © || — 0 |« © |« © | o
i N[ |o S A=) x| |o Qs Q|5 x
o W | o - o+
=




sgI|=¥

SA
X XH .
(=)

)(DIEH/DIEL)

&

=
=}

SH X

al

Hol=

M YR HHI(
&Rl Jl=Z3 4l

ofl
’J
oF
oJ

e

n0

KIo

Bl w

707
707

2,513

713
713

1,800
1,800

A5,413

A5,513

N5,513

100
100

N4, 474

AN464
A464

LH3r
m<l
Rk

12,643
12,643

7,200
7,200

12,181

7,861
7,861

4,320
4,320

23,135

16,475
16,175

300

5,760
5,760

900
900

18,318

9,038
9,038

=
o

s

<J

13,350
13,350

13,350

7,200
7,200

7,200

14,694

8,574
8,574

8,574

4,320
4,320

4,320

1,800
1,800

1,800

17,722

10,962
10,662

10,662

300

300

5,760
5,760

5,760

1,000
1,000

1,000

13,844

8,574
8,574

8,574

202 044

=Ll

01

]

(U]

8,574,000&

cltl

&)
o-

&g Al

0
Ik

202 Oddl

=0

01

=LH0dbl

80

Ne

g

405 At

ur
s
A0
O

ok

el

01

©2lXH(12H)

30
(U]
[0
[0

80
0K
x

Ik

202 OdHl

=W

01

405 At

uir
RF

oTv(1tH)

U




sgI|=¥

SA
X XH .
(=)

)(DIEH/DIEL)

&

=
=}

SH X

al

Hol=

2 A2 HI(
=Pl =3l

od
’J
oF
oJ

e

n0

KIo

Bl w

A 960
A 960

A3,050
A3,050

A 943

A443
N443

LH3r
m<l
Rk

5,280
5,280

4,000
4,000

11,285

7,425
7,425

3,360
3,360

48,200

48,200
48,200

=
o

s

<J

4,320
4,320

4,320

950
950

950

10,342

6,982
6,982

6,982

3,360
3,360

3,360

48,200

48,200
48,200

48,200

202 Oddl

=Ll

01

ulr
RF

.

=
ofJ

ol
20

R0

H

30
0H
B3

0
il

80
0K
T

Ik

202 Oddl

=0

01

=LH0dbl

80

Ne

g

OH

-

00
<+
4
oll

il




